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1. Topic 1, Installing the Components of a XenMobile 10 Enterprise Solution

Which XenMobile deployment option would pose the greatest security risk?

A. SSL Bridge at the NetScaler load balancing tier with the XenMobile Server in the Demilitarized Zone
(DMZ).

B. SSL Bridge at the NetScaler load balancing tier with the XenMobile Server on the internal network
segment.

C. SSL Offload at the NetScaler load balancing tier with the XenMobile Server in the Demilitarized Zone
(DMZ).

D. SSL Offload at the NetScaler load balancing tier with the XenMobile Server on the internal network
segment.

Answer: B

2.What are two valid reasons for deploying a XenMobile Server in the Demilitarized Zone (DMZ)?
(Choose two.)

A. A XenMobile Server is a hardened, FIPS-capable Linux appliance.

B. A XenMobile Server deployed in the DMZ reduces the number of external firewall rules that need to be
implemented.

C. A XenMobile Server deployed in the DMZ reduces the risk of connectivity issues between the
NetScaler and the XenMobile Server.

D. A XenMobile Server deployed in the DMZ can serve as a Secure Ticket Authority (STA) for WorxMail.
Answer: A, C

3.A Citrix Engineer must deploy a scheduling policy to and devices in order to
allow these devices to check in automatically without further intervention by the engineer. (Choose the
two correct options to complete the sentence.)

A.i0S

B. Android

C. Windows Phone 8.1

D. Symbian

Answer: B, D

4.Scenario:

A Citrix Engineer needs to deploy a XenMobile solution for a large organization. The organization will use
XenMobile to manage Android and iOS devices.

To provide resilience, NetScaler appliances will communicate with XenMobile Servers. The engineer has
deployed all necessary infrastructure and opened the required firewall ports. To load balance mobile
device management traffic, the engineer has configured NetScaler to use SSL_Bridge to communicate
with a XenMobile Server cluster.

Which persistence method should the engineer configure to facilitate consistent communication between
the NetScaler and the XenMobile Servers?

A. SSLSESSION

B. CUSTOMSERVERID

C. DESTIP
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D. COOKIEINSERT
Answer: A

5.A Citrix Engineer is testing enrollment and notices that while Mobile Device Management (MDM)
enrollment succeeds, Mobile Application Management (MAM) enrollment fails.

A possible cause of this issue is that ports from the are NOT open. (Choose the
correct set of options to complete the sentence.)

A. 636 or 389; NetScaler

B. 443 or 4443; NetScaler

C. 636 or 389; XenMobile Server

D. 443 or 4443; XenMobile Server

Answer: A




